
Sample Questions 
 

Note:-  a) All Questions given below are for reference purpose only. Actual question bank will vary. 

b)All correct answers are marked in green color. 

 

Customer Care Executive – Call Center 

 

1. How would you define minimum consumer contacts? 

Option a: Disinterest for contacts 

Option b: Efficiency in closing call with solutions 

Option c: Problem solving is not required 

Option d: Consumer not interested in listening 

 

2. Is it important to balance the total minutes spent in talking to a customer? 

Option a: Yes, as it helps in saving cost for call and makes precise conversation from both ends 

Option b: No, balancing may not give effective solution 

Option c: Taking time in mind is not the right approach 

Option d: Its importance depends from customer to customer 

 

3. A call for information on insurance product is categorised under ________________. 

Option a: Complaint 

Option b: Request 

Option c: Query 

Option d: Normal call 

 

4. To check the expiry date of policy of a customer, what is the most important aspect? 

Option a: Policy start date 

Option b: Policy number 

Option c: Customer name 

Option d: Type of policy  



 

5. Mr. Salvadore called up for inquiring  about his account balance. You will ask for 

_______________________. 

Option a: His account number and customer ID 

Option b: His account opening date 

Option c: Name of his spouse 

Option d: No need of any details 

 

6. How would you define complaint? 

Option a: Customer asks for service activation 

Option b: Customer asks for the details on tariff 

Option c: An aggressive call about dissatisfaction on services 

Option d: Feedback on service provided 

 

7. A failure in finding a solution to a customer's problem should be referred to ________________. 

Option a: Supervisor 

Option b: Colleague 

Option c: Subordinate 

Option d: Not required 

 

8. An angry customer calls for good quality broadband services. It is a ______. 

Option a: Complaint 

Option b: Request 

Option c: Query 

Option d: Normal Call 

 

9. When you provide a quick response to a customer's query, what message it convey? 

Option a: A message that the customer's problems and requests are always welcome 

Option b: Wrong message to customer 

Option c: The company has nothing to do and is free 

Option d: The company has nothing to do and is free 



 

10. How can a customer be satisfied regarding quality? 

Option a: Providing services that cover all requirements of the customer in time 

Option b: Giving any information that might help him 

Option c: Making fake promises 

Option d: Customers can never be satisfied as they have become very greedy these days 

 

 

Field Sales Executive 

 

1. Which of the following are the parts of a process to make effective action plan to achieve defined 

sales target? 

I. Make specific steps that will move you towards the completion of that target. 

II. Always create measurable milestones. 

III. Always break large tasks into smaller, more manageable chunks. 

IV. Put timelines for most important points. 

Choose the correct option from the following: 

निम्ननिखित प्रनिया का कौि सा निस्सा नििी के निर्ाारित िक्ष्य को िानसि कििे की सिसे प्रभावी कायायोजिा िै? 

 

I. नवनिष्ट कदम उठाएं, जो आपको िक्ष्य पूिा कििे की तिफ िे जाएं। 

II.  िमेिा पूिे नकए जा सकिे वािे िक्ष्य िी ििाएं। 

III.  काम का प्रिंर्ि कििे के निए, िड़े काम को िमेिा प्रिन्धि योग्य छोटे टुकड़ो ंमें किें। 

IV.  सिसे मित्वपूर्ा निंदुओ ंके निए टाइमिाइि िगाएं। 

निम्ननिखित में से सिसे उपयुक्त नवकल्प का चयि किें : 

Option a: I, II and III Only 

केवि I, II औि III 

Option b: I, II and IV Only 

केवि I, II औि IV 

Option c: II, III and IV 

II, III औि IV 



Option d: All I, II, III and IV 

सभी I, II, III औि IV 

 

2. Which of the following is not a type of merchandise? 

निम्ननिखित में से कौि सा प्रचाि का तिीका ििी ंिै? 

Option a: Glow shine board 

ग्लो िाइि िोर्ा 

Option b: Pamphlet 

पैम्फिेट 

Option c: Visiting card of the distributer 

नर्खरि बू्यटि का नवनजनटंग कार्ा 

Option d: Banners 

िैिि 

 

3. Which of the following is the time period for which calculation of total sales is done, 

regarding new subscriptions? 

िई सदस्यता के संिंर् में कुि नििी की गर्िा कििे की समयावनर् निम्ननिखित में से कौि सी िै? 

Option a: From the beginning of the current month till date 

वतामाि मिीिे की िुरुआत से िेकि आज तक की तािीि 

Option b: From the beginning of the current week till date 

वतामाि सप्ताि की िुरुआत से िेकि आज तक की तािीि 

Option c: From the beginning of the current quarter till date 

वतामाि नतमािी की िुरुआत से िेकि आज तक की तािीि 

Option d: From the beginning of the current month till the end of the month 

वतामाि मिीिे की िुरुआत से िेकि मिीिे की आखििी तािीि तक 

 

4. Which of the following is the most appropriate way to check the availability of the stock at a 

retail shop? 

I. By calling at the retailer's shop to get an agreed quantity of stock 

II. By visiting the retailer's shop 



III. By checking the of customers' base at retailer's shop 

IV. By sending e-mail to the retailer 

Choose the most appropriate option: 

रिटेिि की दुकाि पि रॉक की उपिब्धता की जांच कििे का सिसे उनचत तिीका निम्ननिखित में से कौि सा िै? 

 

I. रिटेिि की दुकाि पि फोि किके एक सिमनत के साथ सामाि की मात्रा पता कििा 

II.  रिटेिि की दुकाि पि जािा 

III.  रिटेिि की दुकाि पि ग्रािको ंका आर्ाि जांचिा 

IV.  रिटेिि को ईमेि भेजकि 

सिसे उपयुक्त नवकल्प का चयि किें : 

Option a: Only I 

केवि I 

Option b: Only III 

केवि III 

Option c: Either I or II 

दोिो ंमे से एक I या II 

Option d: Either III or IV 

दोिो ंमे से एक III या IV 

 

5. Aftre confirming the appropriate availability of stock on call you were unable to go and collect 

payment from the retailer. Which of the following is the most appropriate way to collect the 

payment?  

I. Collect the payment when you are well. 

II. Ask retailer to give payment at your home.  

III. Send another executive to collect payment. 

Choose the most appropriate option: 

आपके साथ दुर्ाटिा िो गई िै औि रिटेिि से भुगताि एकत्र कििे में असमथा िैं। भुगताि एकत्र कििे का 

निम्ननिखित में से सिसे उपयुक्त तिीका कौि सा िै?  

I. जि आप ठीक िो जाएंगे तो भुगताि एकत्र कि िेंगे। 

II.  रिटेिि से आपके र्ि पि भुगताि देिे के निए किेंगे।  



III.  भुगताि एकत्र कििे के निए दूसिे एक्जीकू्यनटव को भेजेंगे। 

सिसे उपयुक्त नवकल्प का चयि किें : 

Option a: Only I 

केवि I 

Option b: Only II 

केवि II 

Option c: Only III 

केवि III 

Option d: All I, II and III 

सभी I, II औि III 

 

6. A retailer purchased 100 units of a product for Rs 1000, then spends Rs 500 for the 

promotion. What is the selling price of each product to earn 50% profit, overall? 

एक रिटेिि से एक उत्पाद की 100 इकाईयां 1000 रुपये में ििीदी, उसके िाद उसिे प्रचाि पि 500 रुपये िचा 

नकए। कुि 50% िाभ कमािे के निए प्रते्यक उत्पाद का नििी मूल्य क्या िोगा? 

Option a: Rs 15.5 

15.5 रुपये 

Option b: Rs 18.5 

18.5 रुपये 

Option c: Rs 21.5 

21.5 रुपये 

Option d: Rs 22.5 

22.5 रुपये 

 

7. After proposing a range of different offers on prepaid SIM a retailer asks for the details 

required for filling enrollment form. Which of the following will you NOT consider in this 

situation?  

एक प्रीपेर् नसम पि अिग अिग प्रस्तावो ंके िािे में ितािे के िाद एक रिटेिि आपसे नसम के निए आवेदि फॉमा 

भिते समय जो जािकारिया भििी िोती िै उिके िािे में पूछता िै। इस खथथनत में आप इिमे से नकसको अनिवाया 

ििी ंमािेंगे? 

Option a: Name of the Customer 



ग्रािक का िाम 

Option b: Serial number of ID proof 

आईर्ी के सिूत का िमांक 

Option c: Address of the Customer 

ग्रािक का पता 

Option d: Bank account details of the Customer 

ग्रािक के िैंक िाते का नवविर् 

 

8. A customer is not able to make calls from his new sim, then which of the following is/are the 

possible reasons for this?  

I. Documents of the customer are not verified. 

II. Customer's mobile phone is not compatible with the sim. 

III. There is no network in the mobile phone. 

IV. Mobile number was registered to another person. 

Choose the most appropriate option: 

ग्रािक अपिे िए नसम से िात ििी ंकि पा ििा, इसके संभानवत कािर् निम्ननिखित में से कौि से िो सकता/सकते 

िैं?  

I. ग्रािक के दस्तावेज सत्यानपत ििी ंिैं। 

II.  ग्रािक का मोिाइि फोि नसम के अिुरूप ििी ंिै। 

III. मोिाइि फोि में िेटवका  ििी ंिै। 

IV. मोिाइि िंिि नकसी दूसिे व्यखक्त के िाम पंजीकृत िो गया। 

सिसे उपयुक्त नवकल्प का चयि किें : 

Option a: I,II and III 

I,II औि III 

Option b: II, III and IV 

II, III औि IV 

Option c: I, II and IV 

I, II औि IV 

Option d: I, III and IV 

I, III औि IV  



 

9. Following are some of issues related to SIM/company service: 

I. Sim not activated 

II. Balance deduction for some unknown reason 

III. Less speed of internet 

IV. No signal 

 

Which of the following issues should be resolved by customer care executives? 

नसम/कंपिी की सेवा से संिंनर्त कुछ मामिे िीचे नदए गए िैं: 

I. नसम एखिवेट ििी ंहुआ 

II.  नकसी अज्ञात कािर् से िकाया िानि काट िी गई 

III.  इंटििेट की कम गनत 

IV.  कोई नसग्नि ििी ं

 

निम्ननिखित में कौि से मामिे करमि केयि एक्जीकू्यनटव द्वािा सुिझाए जािे चानिए? 

Option a: I and II only 

केवि I औि II 

Option b: II and III only  

केवि II औि III 

Option c: III and IV only 

केवि III औि IV 

Option d:  I and IV Only 

केवि I औि IV 

 

10. Customer's network data is continously being deducted and new offers are getting activated 

without his/her permission. Who among the following will solve this issue of the customer? 

ग्रािक का िेटवका  र्ाटा कट ििा िै औि ियी सुनवर्ाएं उसकी अिुमनत के नििा सनिय िो ििी िै। निम्ननिखित में से 

कौि ग्रािक की इस समस्या का समार्ाि किेगा? 

Option a: Retailer 

रिटेिि 



Option b: Customer care executive 

करमि केयि एक्जीकू्यनटव 

Option c: Distributer 

नर्खरि बू्यटि 

Option d: Sales executive 

सेल्स एक्जीकू्यनटव 

 

 

Optical Fibre Technician 

 

1. A way of reducing or limiting the strain in the cable during installation is to use 

i. Moving Reel Method  

ii Winching System  

iii Stationary Reel Method 

Option a: only i 

only ii 

only iii 

All i, ii & iii 

 

2. Wok site for Optical Fibre Installation should be assessed properly for health and safety risk. When 

should it be assessed ? 

Option a: During the work 

Prior to work commencement 

Post completion of work 

All the given options are incorrect 

 

3. Corning and Berk-Tech fiber are currently recommended for installation on campus. Cable from other 

manufacturers will be considered. All cable installed must be cleared by IST prior to installation. IST 

stands for: 

Option a: Information Services and Technology 

Information System and Technology 



Information Services and Technique 

Information System and Technique 

 

4. As a Technician, where you are supposed to keep the faulty equipments ? 

Store 

Option a: Logistics Team 

Operations Team 

Finance Department 

 

5. Normal buried cable installation methods includes activities :- 

a. Ploughing 

b. Trenching 

c. Moiling 

d. Drilling 

Option a: only a 

both a & b 

All a,b & c  

Only c 

 

6. RCC pipes are used for additional protection of ducts. RCC stands for 

Option a: Reinforcement Cement Concrete 

Refined Cement Concrete 

Refined  Ceramic Cement 

All the given options are incorrect  

 

7. In case of any delay while performing given task, matter should be escalated as per compliance to : 

Option a: Exit Policy 

Finance Policy  

Enterprise policy 

HR Policy 

 



8. The number of joints in an optical fible cable should not exceed more than : 

Option a: 10% 

20% 

25% 

15% 

 

 

9. Name the connecting device which is been used to join two ducts in optical fibre cable ?   

Option a: End Plugs 

Couplers 

RCC/ GI pipes 

Connectors 

 

10. While performing cabling, You are required to adhere health and safety procedures, Legal  and 

compliance strictly. Who is the force behind designing safety procedures ? 

Option a: Organisation’s Planning team 

Labour 

Technician 

Customer 

 

 

 

Cluster In-charge 

1. 11526-Match the column (Image A) 

Option a: A-R, B-Q, C-P 

Option b: A-P, B-Q, C-R 

Option c: A-Q, B-R, C-P 

Option d: A-Q, B-P, C-R 

 

2. 11569-Which of the given site faults can be monitored at NOC level? A. VSWR Alarm, B. DG Low Fuel, 

C. SMPS Rectifier Fail 



Option a: A and B Only 

Option b: B and C Only 

Option c: A and C Only 

Option d: A, B and C 

 

3. 11576-Successful Zero Breakdown Maintenance involves? 

Option a: Proper packaging of machines 

Option b: Developing people and skills with which people and parts can work well together 

Option c: Maintenance of the equipment’s 

Option d: Placement of the equipment’s 

 

4. 11526-Match the column (Image B) 

Option a: A-R, B-Q, C-P, D-S 

Option b: A-S, B-Q, C-P, D-R 

Option c: A-R, B-P, C-Q, D-S 

Option d:  A-S, B-P, C-Q, D-R 

 

5. 11532-Identify which of the following activity is a part of ensuring that civil, tower, electrical and 

other infrastructure are in the best condition? 

Option a: Integration and performance audit of equipments installed 

Option b: Fixing up the bolts of the equipments installed 

Option c: Wiping of dust deposited on the equipments installed 

Option d: Rebooting of the equipments installed 

 

6. 11534-Which of the following are the elements of site quality audit checklist? A. Cable fixing on cable 

tray, B. Placement of equipments at designated area, C. Proper Connectorization 

Option a: A and B Only 

Option b: B and C Only 

Option c: A and C Only 

Option d: A, B and C 

 



7. 11586-The cost reduction in the telecom operations can be achieved through: A) Site Automation, B) 

Security Head Count Reduction, C) Instructing vendors to control  PM & Repair costs 

Option a: A and B Only 

Option b: B and C Only 

Option c: A and C Only 

Option d: A, B and C 

 

8. 11552-How does planning the preventive maintenance program helps the business? 

Option a: It helps in increasing the number of employees in a company 

Option b: It helps in increasing productivity and site uptime 

Option c: It helps in branding of the company 

Option d: It increases the unexpected breakdown of the machines. 

 

9. 11557-State True or False: A) OPEX can be optimized by reducing waste and streamlining supervision 

and intervention operation. B) Regular monitoring of KPI (average number of interventions per 

technician, time to repair, time in the vehicle, etc. dramatically and quickly enhances productivity. 

Option a: A is True and B is False 

Option b: A is False and B is True 

Option c: Both A and B are False 

Option d: Both A and B are True 

10. Revenue of the company can be increased by: A) Increasing security head count, B) Reducing diesel 

cost per tenant, C) Controling repair cost 

Option a: A and B Only 

Option b: B and C Only 

Option c: A and C Only 

Option d: A, B and C 

 

 

 

 

 

 


